Einbauanleitung

Eiscnmann’

EXHAUST SYSTEMS

Reparaturset fir BMW E36/E46:
Austausch Gummipuffer gegen T-Block
Art.-Nr.:06.000.299

D

Ausleger-Aufhangung

Halter am

Fahrzeu
NS

U-Scheibe fir @20
Art.Nr.:603.000.056

Halter-Lasche
Art.Nr.:01.400.195

Karroseriescheibe
Art.Nr.:603.000.117

6kt.Schraube M8x40
Art.Nr.:603.000.076

T-Block
Flanschbuchsenlager

Art.Nr.:05.000.073

Mutter M8

Art.Nr.:603.000.058

Karroseriescheibe
Art.Nr.:603.000.117

6kt.Schraube M8x20
Art.Nr.:603.000.015

Karroseriescheibe
Art.Nr.:603.000.117

Mutter M8
Art.Nr.:603.000.058

Erstellt: 02.02.2011

Anderungsstand | 00

Ersteller: Hofmann

Anderungsdatum: | -




